1. [bookmark: _GoBack]“I move that the property tax rate be increased by the adoption of a tax rate of 1.0400 which is effectively a 1.24 percent increase in the tax rate.”
2. 
a.  “THIS TAX RATE WILL RAISE MORE TAXES FOR MAINTENANCE AND OPERATIONS THAN LAST YEAR’S TAX RATE.”
b. “THE TAX RATE WILL EFFECTIVELY BE RAISED BY 1.24 PERCENT AND WILL RAISE TAXES FOR MAINTENANCE AND OPERATIONS ON A $100,000 HOME BY APPROXIMATELY $13.”
3. 
a. “WILDORADO INDEPENDENT SCHOOL DISTRICT ADOPTED A TAX RATE THAT WILL RAISE MORE TAXES FOR MAINTENANCE AND OPERATIONS THAN LAST YEAR’S TAX RATE.”
b. THE TAX RATE WILL EFFECTIVELY BE RAISED BY 1.24 PERCENT AND WILL RAISE TAXES FOR MAINTENANCE AND OPERATIONS ON A $100,000 HOME BY APPROXIMATELY $13.”


       


